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ppj = f(Gen,Inc,Age,Mar,Occ,Edu,Nigh,Group,Per,Tran,KyAte, Time, Att)
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PD1=a+ bj Gen; +b, Inc; + b3 Age; + b4 Mari; + bt Occf + b4 Occ2; +

b7 Edu; + bg Nighj + bg Groupf + 10 Group2; + b,1 Per; + bp Tran;+

3 Ky; + b4 Prg t+ bj5 Atc; + bls Time; + b.7 Att; + ; ;i= 12345
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log[PD /(- PDt)]
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PD
log =a+ 1 Gerij+b, Incj + b3 Agej + b4 Marlj +
1-PD b5 OCCP+ 4 Occ2j + 7 Eduj + bg Nighj +
b9 Groupé + b1 Group2j + 1 Perj4 2 Tranj +
b1z KVi+bu pPro+bis AtCi+ b +
Timej + I7 Attj + uj ;1=1,234,5
2. 1
2
exp ( 1X)
PD1= --—---mmmmoeme-
1 - exp( 1X)

PD

WTP 0.5



2537

D=%PDn *TVT

TVT = 2537
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